Total Marks: 60 Class:9th Time:1.45min

Subject:Math(Subjective)
2-Attempt any six Short Questions

' What is Row matrix? oy /‘.U/JGUAE
2 Find determinant. -‘J/f#"dz}

s 3 = 3

3 8 8 © s
Simplify : s}—— /__ i
implity 7 ; 27 “. 7~

* Write any two properties of real number. ek A }..«Lay‘%:éfd/;wl&b

® Find the numbers whose common J’ ORI ICw d/ (w/ gy rl&L o é r)]"' JL@J )
logarithms are: 1.7427 1.7427

® Find the common logarithm of each of -é(}”' (5 Lol ) 5 Skt
the following numbers. 0.3206 3206

7 Simplify -y
(XY () x+y) (CHFRY () (Xl (x+y) ()

8 Perform the indicated operation and §implify.

x=1 "x+5 = @
2 +2x+1 1-x & 492541 1-%
® Factorize 12x° - 36x + 27 12x% - 36x +27 -u_‘/(df
3-Attempt any six short Questions
" Find the H.C.F. of thefollowing LIS i K UM 50
expressions by factorization. - . T
K+ 5x + 6 X 4x - 12 K Sx+6, X -4x- 12
-4 <3x 5<% Solve -4 <3x+5<8 -LZ/JF
> Solve each equation and check for JU L“ZJWGWHU,’/ J5 ( =l J..’.@”
extraneous solution, if any. .
[3x+4=2 [3x+4=2
" Find the value of m and ¢ after writing é-/';;' LUty = mx + cf 2x - y = T=bl
. - . =S + -
the given equation in the form:y = mx + ¢ . /(r ot » d/cw Y
2x -y=17 "
® Plot the points on quadrant P2, 2),Q(6,6). P(2,2), Q(6 , 6) - /by (b
® Define Triangle: sl /..J}J /Jd/;«(f"‘
" Find the mid-point between the pair of ~£"3L’”,E51 d&w(uﬂ’ﬁébl‘ij
points. A(- 4, 9), B(-4, 3). A(-4,9),B(-4,3).
8 If two angles of a triangle are 900 and & slje J’U}’QOOJ}JGOOLJIJJJL EL
60° then what will be the value of 3rd ange. sdnliand
® Take a line segment of 5.5 cm length and ,‘:ﬂ S U J“L?"Sz’/u’ /2 L_5.5cmLs b5 L]
divide it into 5 equal parts. ,é

4-Attempt any six short Questions

' Define bisector of an angle. =i /r...e,f j.’.d/..ﬂ l::f.,;l)
° Examine can the triangles be formed J/ e X .:{:i Uy LJd/ Cﬂﬂi;:«ﬁc’z &

from given set of lengths? e Sl 2y
(i) 3cm, 4cm, Sem (ii) 3cm,4cm, Sem



*In triangle shown in the figure,

MN || PQ. If mLQ=2.3cm , mLM=5cm

then mﬁ.

S MN || PQUE LMN &GS

»imLQ = 2.3cm«mLM = 5cm
-Q)F;L”Gg—“d/ mLNZmLP = 2.5cm

P Q

M i N

*Ifin triangle ABC DE || BC then find =4 § AE ¥»DE || BC(£ABC&t2 /| *

thivalue AE such that
AC=4.8cm

b

® Define obtuse triangle.

° In the given figures, find the value of x.

" Define congruent area axiom.
& Construct ABC in which
mAB=4.6cm, mAC=4cm, m£LA= 60"

® What do you mean by poinf of concurrency?

AD _ 3 8 AD 3
ﬁ:T and ¥+ AC = 4.8cm JJ'::T&éél/’LV
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L L & LABCEL: 8
mAB=4 6cm, mAC=4cm, mZA = 60°

el I o

Attempt any three questions:Question no. 5 is compulsory

4x+2y=8

1 @ Solve by invers€ method
3x-y=-1

® Solve the@quation for x and y
2-3DDTyi)=4iti

> @ Byaluate: 0.2913 x 0.004236

(b) 1 1 L1
IfX=—=2,finde*+— and '+
X X

3 (a)

divisible by x + 27

(b) a+l1
If A=—— then find A+l
a-1 A

4 @ Solve the following equation.
. 5 2
L1 5. 2 .,
x-1

x-1 3 F+

®) Construct a triangle equal in area to the
quadrilatral ABCD having

mAB=6cm , nBC=4cm, mAC=7.2¢m
mZ BAD = 145" and mBD=8cm

® Prove that any point equidistant from the
end points of a line segment is on the
right bisector of it.

For what \;aluc 20f m is the pl yomial
p(x) =4x -7x"+ 6x - 3m exactly

4x+2y=8 ..Lf”/'/JpC-),&JJ!G"LUX’G' @

3x-y=-1

SISy sixdetslr ©
(2-3) (x+y)=4it+i

e d 029130004236 = 24 d}%@‘ @2

"ja)/r)“‘ﬂdzb@))}"yz X *%: 2/)’] ®)

2 1 1
P+~ and ¥*+—
X X

3//:":’()( + 212:.:-{?4_/’{ m f’c{r)l"” @3
b g po= 43 - 78 + 6x - 3m

s earl 3aiatl o
e eddar g T A=t A

..L):/',J:[:.«JAL/JJ,?)}J‘ @ 4
5

2x 1 _&. 2
xﬁl+376 i =7 J X F
LJJLABCDJ[Y,JA{U)':L&%..Q ®)
¥z

mAB=6cm , mBC=4cm, mAC=7.2cm
mZBAD = 105° and mBD=8c¢cm
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" Prove that triangles on the same base and s/ Uﬁ(il:/oﬁl?d'ﬁbgﬁ ufp (,f.l,f é okt
of the same (i.e. equal) altitudes are equal in area. _dﬂ ux/."/.uf,:ﬁu:uyz/.b:@@;iéui
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